
Exercises

7.9 [Ho
, aff =/dp-wplatpap.at] =/dp-wpfatplap.AE] + [atp.at"] ap) = what

,
- ⇒

[Ho
, an] =

. . .

= -

Yau
=

udpk

dd-tq-iddt-fdkfq.ua e-"" + at.qei↳) = i [tf , y]
-- -

=[Ho,ai ftlo.at.]

7.3J Hs = ¥m + ¥ ✗2 + ex" → H
,
= eitloslt-H µ

,,
e-itloslt

- to)
=

- -

Hog HIS
=
g.

eitbslt.to/x4e-itloslt-tol=e.Xg4ee7.yLI---e:y-Ay
: = - HI

⇒ s = 1-{ expffd: HI) ) = 1- { expfield"×:y-*y :))



7.6J Thioiewe de Wick pour 3 fermions

4,42
= : 4^42 : + Yik

✓

On droisit : ti t, et tzatz

44243 = (Hitz : + kik ) 43 ⇐
: yiyz : yj + :Hitz: 45 + 4^4243w

w
-

= :4.4245 :

'
Tik : 45 = 4++545+45%+45 - g-4^+45 + Yixing

-

To To To = -15%-45

① = yifxixi-ilxi.ci1) = -xixixi-xitxi.mil =
= Kirti - Kiribati + Xilai.%-) =
= g-Xinyi - YEE Yi + Hits Yiw

② = q-fxixi-ilxi.ciD= -xixiyi-iq-lxi.us} =

= g- titi + 4- tits
ni

③ = +5 titi - Yi Hits
w

⇒ thy
= g- ( titi +Tini - Tizi + titi ) + : 442 : 45
=i

+

YIK 43
-

443 Yi - 4^4345 + 4¥45 + 424,45
w w w

= : 4,4243 : + 454243
-

Hits 42
+ 4¥34

in

⇒ 1-{4%43} = :Titans : + Fike - Fisch + Frisk



7.7J Flay) = : 761841×1AM 4-G) jiffy)Ady) :

+ : y-wjyFA-iy-lyjylylh.ly) :
+

a • o

= : ifeng.yfxy-fyj.HN : Ark A.4)
+ i : tatty:p 9=1×-7,1 in,4§) : AMAGI
t

o o o


